gr 7 u2 int day 11 add, subtact (M. O'Keefe) Day 2 with Quiz.notebook September 21, 2023

Integers Rules

Adding
Same sign Different sign
(2+ () (+)+ (-)

Sdmne . Difféerent
If the signs are the same, If the signs are _different, then
then add the # part AND find the difference between #
Keep same sign part (Big-small) AND
Ex1) (-2) + (-4) =(-6) Keep same sign on larger #

part (or who you have more of)
s same sign
2+4 & Keep sign EX1) (_10) + +3) = (_7)

Ex2) (+3) + (+5) =(+8) Diff 81

10-3 =7 & Keep sign of negative
(since more negatives)

Subtraction addthe opposite then follow adding rules

ERRY Ex1) (7) (%)
add O} }dd !pp
+ Cowd) - (7) \+y>
Now use adding rules
Same
....................................................... T LY S
M d ”l ng Shade is positive Unshaded is Negative
Adding o (2 * (+5) = (+3) 00
Top Bottom ®esese

see if any z&8 pairs form

Number lines --> Start at zero and use (-) to jump left and (+) to jump right

(_m (+4) + ()=(_)

(')@ IR right 4 Back3  Where you
stop

Subtraction- only with tiles
Model first integer and ask if you can remove the second integer

if YES then circle and remove and record what is left

t7-(2)

o000 O
— 00000 (-7)-(-2) = (-5)

if NO then need to add zero pairs, then remove the second integer

(+6) - (-2)

N vy g

v (+6) - (-2) = (+8 )

—
-— 00t %
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+8) — (+ 1) (+3) - (-9=¢9)
(,.?...@” o @8

b ......

1)
.

(2} 5) = *3
Qooo¥
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Homework

. Solutions

pg. 75
# 4, #5, #8(a,b), #11(a,b), #12(a,b,c,d,e,

ha) )= - 49 by (-9)— @4)

(-4 (-H=—9
-D-L-3 N2
QL-—:) J (L43\)= +| O Gy + t*’)) =+
- ) = (+] - (Y
& B)- BN = 9 -?—)(41)\+(415;+°?
5 W) -(-5)
* (+7) 4D =+12
(-15) —(—¢)
2 (12D +4g) =77
<)  (-)-_)
G4y +(-9) =13
0 &2 —( -b)
G2 + () = +¥ mmhj) d;?
b)Y -3y (-8 mor
(- FU) =45

A (-5 =(*)
o2 means 9
(-5 +HH) means -S'cuer
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pg. 735
# 4, #5, #8(a,b), #11(a,b), #12(a,b,c,d,e,f)
Homework
7a) (April) - (January) . Solutions
Cal:  (+13)-(-4) i)lqualuit:  (-10)-(-22) 1O  (+12)-(-3)
(+13) + (+4) (-10) + (+22) (+12) + (+3)
+17 +12 +15

iv)Vic:  (#13) - (+7)
b) Calgary has the greatest change

(+13) + (-7) since it has the largest difference
+6

8b) (+11)-(-6)
(+11) + (+6)

8a) (-6) - (+11)

(-6) + (-11)
=17 =+17
12)a) (+4)-(+2)- (+1) [ 12)b) (2)- (-4 | 120) (1)- (42) - (+1)
(+4) + (-2) + (1) (-2) + (-1) + (+4) = (1) + (2) + (1)
2+ (1) -3+ (+4) = (:3) (1)
= +1 = +1 = -4
12d) (+5) - (+1) +(-2) 12e) (+10) - (+3) - (-5) 12f) (-7) - (+1) + (-3)
) ()s ) = (#1005 (3) 4 (5) = (7) + (1) + (:3)
= (+4) + (+2) = (+7) (+5) = (-8) +(-3)
= +12 = +11

= +6
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Q. (=)= ]
-6y +CD =717

(1) - (k)
) F L) =TT
The orcroers owe ofp 2s) e n\'rkcse’f-
A M ¢ o difference oF 2 Mges
(+&) - W\ —-D)

(-N=(=5) (O)=-(
C-IDN=C-N (- 10) =14

103 (#¢) -(+5) =4/

(+s\—H5)Y=0

(+4\ =45\ =-|
%) - s =2
42) - (G5) =3

BY 4N -Gy = +3
(‘F’\ —( 4’3\ = i
N — ) =+5
G = ) =46

N0y =*7
(FND —(-1\ =+¥
G- () =19
L — (= 2\ =+10
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”-6\\ o, ""2\ "'2\ -_(0_)'/()3 ‘lﬂ) R
SL,..‘:.'bf‘ooE '“'\'\
b -3, "KH,*—J», +§,+7)*_‘1.
odd Y2 eoch BEwme
C) +5, 412, ¥4 2 433 Hiy +f7
2dd Tl coch Evme. !
o2 Bt s
cukbrpet |
. W - =) =+
LY 2= W) - (-4
(-2 DN F L) =+
) (=) L(=2)—(+1)
CVNH2) FH )y =
N HeY— ) +-2) =42
e) H/oy—-42) - (-5)
F)+Es) =+

Y (-D-(H) +-3)
=D FENY ==

Homework Sheet 4.3 # 1-25
Sheet 4.4 # 1-34

Sheet 4.5 #1-16
(Even numbers only)
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Test Tuesday, Sept. 26

Day 2 of Review la) -17)+ @5):(-!1)
¥ K Class/Homework
D Ao ] Q ¢ "‘) + 3 = (+20)
Wiv .79
(.0, Yo g\“‘){ )

#2(a,b,c,d e) gﬂﬂ,‘

#3(a,b,c,d), Use Tiles or Write out ( )=
@4(a,b,c,d) , Write out ( )+( )=

#5(a,b), Write out ( )TC )=

#6, Write out ( )+( )=

#7(a,b), Write out ()+()=__

#8(a,b,c,d) USE TILES
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